Potencias de 10 (H)

291000

12 +1000

151000

52 +1000

42 +-1000

59 +1000

111000

43 = 1000

291000

571000

Calcule los siguientes cocientes.

41000

171000

221000

71000

42 +1000

18 1000

221000

231000

13 1000

56 =-1000
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Potencias de 10 (H) Respuestas

291000
0.029
121000
0.012
151000
0.015
521000
0.052
42 + 1000
0.042
59 = 1000
0.059
111000
0.011
43+ 1000
0.043
291000
0.029
57 <1000
0.057

Calcule los siguientes cocientes.

41000
0.004
171000
0.017
221000
0.022
7--1000
0.007
42 +1000
0.042
18 = 1000
0.018
221000
0.022
231000
0.023
13 <1000
0.013
56 + 1000
0.056
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